SDM-Trade

AD
, 90
E_| 158
Il 1018
1 "'\E [id .
: hy
Lo § - e AN
s @ ] N
: g [l | mroxz
= . i _" 35 b6
[[] s o OUTPUT
180 -
216
110 -
| 7
- T
o N
e £ | T
i3 5] ol &
< R 75 =
70 LD _*15_1,!,
a0
130!
155
LF
| UF | N .
I, S G AD
2 lse | L ]
_ w T Ta e cCa1u
- L =il : 0 p1|p2|p3|c|T]s
ﬁF‘“ e e 0 1 o i = ! ; b
- | A s~ |Fal130[165[200{11[3.5/11
T ) & Nz FB [180[215[250[14] 4 |13
70 LD J o@o‘J
155
m"-FE M...FD M..FA
4] 0] |Aa|nH |H | L |D|AD|g|LF| @ | R |AD| R |AD
ca123 |s1 |m 138 | 199 | 197 |491.5| 220 | 108 | 25 |5525| 28 | 103 | 135 | 124 | 108
Ca123|S2 |M2S | 156 | 208 | 206 |5195|2355] 119 | 31 |5905| 34 | 129 | 146 | 134 | 119
Ca4123 |S3 |M3S | 195 |227.5|2255|5635|251.5] 142 | 36 |6595| 41 | 160 | 158 | 160 | 142
Ca12/3 |S3 |M3L | 195 |2275|2255|5955|2515| 142 | 45 |6865] 50 | 160 | 158 | 160 | 142
C41 23 |S4 |m4 258 | 259 | 257 |703.5| — 193 71 [8125| 83 226 | 210 | 217 | 193
C4123 |S4 |MALC | 258 | 259 | 257 | 739 | — | 193 | 78 | 838 | 91 | 226 | 210 | 217 | 193
Cald |S05 |MO5 | 231 |2455|2435] 524 | — | 95 | 27 | 6590 | 28 | 96 | 122 | 116 | 95
ca14 |S1 | M1 138 | 199 | 197 | 553 | — | 108 | 28 | 614 | 31 | 103 | 135 | 124 | 108
Ca14 |S2 |M2S | 156 | 208 | 206 | 581 | — | 119 | 34 | 652 | 37 | 129 | 146 | 134 | 119
C4a14 |S3 |M3S | 195 |227.5|2255]| 625 | — | 142 | 39 | 721 | 44 | 160 | 158 | 160 | 142
Ca14 |S3 |M3L | 195 |227.5|2255]| 657 | — | 142 | 48 | 748 | 53 | 160 | 158 | 160 | 142




5 g
ﬂ @ | &
[a]
7 2 ]| Moo
YL . 35 bs
lllll :
(s 3] OUTPUT
185.5 180
LD 216
154
P 110 17 & (pe3)
n 40, ,, 115 b N
5 |60 l M2 v
T o =R
8 - """‘-‘ '_,/. A
: Sy e L
R75 ) Y |
| Ay
70 | | N3 :
M &7
LD | e
M2
M1
. INPUT
I ! | : T S X
5 | 60 _1:
1 c41 U
v - | D1 /D2|D3|G|T|S
FA [130(165(200|11 |3.5(11
FB [180]215|250(14| 4 (13
70 H| na
LD |
HT] I LD | M | M1 | M2 | N | Nt | N| N | N | X | P | B
C41 2/3 | P63 235.5 11 12.8 4 140 115 95 — M8x19 4 336.5 27
C412/3 |P71 2355 14 16.3 5 160 130 110 — M8x16 45 | 3365 28
C412/3 |P80 251.5 19 21.8 6 200 165 130 — | M10x12 4 356 29
C412/3 | P90 2515 | 24 27.3 8 200 165 130 — | M10x12 4 356 29
C412/3 |P100 — 28 31.3 8 250 215 180 — |M12x16| 45 366 33
C412/3 |P112 — 28 31.3 8 250 215 180 — |M12x16| 45 366 33
C412/3 |P132 — 38 41.3 10 300 | 265 230 16 14 5 4025 | 35
C414 |P63 — 11 12.8 4 140 115 95 — M8x19 4 395 30
c414 |PT1 — 14 16.3 5 160 130 110 — MBx16 45 395 31
c414 |P80 — 19 21.8 6 200 165 130 — | M10x12 4 4145 32
C414 |P9 — 24 273 8 200 165 130 — | M10x12 4 4145 | 32
c414 |P100 — 28 31.3 8 250 215 180 — [M12x16 | 45 [4245 36
C414 |P112 — 28 31.3 8 250 215 180 — [M12x16 | 45 | 42456 36




C 41..SK / SC
3

35
223

35
221

128

- '_Q'E
| caiu g
70 p1|p2[p3[c[T[s
FA [130]165]200[ 11 [3.5| 11
FB [180|215|250[14] 4 [13
] D | m [ M [ m2 | N | Nt | N2| N | X 4 o)
1 b 2/3x & 4x (o}
CaT14  [SKBOA | 107 | 11 | 128 | 4 | 82 | 75 | 60 [Woxi0] 35 | — [ 370 [ 31
(C414 SK60B | 102 41163 5 82 | 7 60 5x10] 4 — 377 32
1C414 SK80A 15 4 163 5 9 00 R0 x12| 2 — 377 32
Ca1273 _[SKBOB | 120 | 14 [ 163 | 5 | 96 [ 100 | 80 [Mexi?| 4 | 3565 | — | 20/29 ]
[Ca12/3/ | SKBOC 0 [ 10 218 [ 6 | 96 [ 100 | 80 [Mexi2| 4 | 3565 | 418 [20/29/3
[Ca12/3/4 [SK95A | 130 1623 5 1100 [ 115 [ 95 [MBxi2] 4 | 3565 | 418 [20/20732
[Ca12/34 [SKO5B | 130 | 16 [ 218 | 6 [ 100 [ 115 | 95 [M8x12| 4 | 3565 | 418 [29/20/33]
Ca12/3/4 [SK95C | 130 | 24 [ 273 | 8 [ 102 [ 1156 | 05 [M8xi2| 4 | 356.6 | 418 [20/29/36
1C412/3/4 SK110A | 150 1 21 : 20 30 10 IM8x121 9 3565 | 4 29/29/36 |
[C412/3/4 [SKI10B | 150 | 24 [ 27.3 | 8 [ 120 [ 130 [ 110 [M8xi2| 5 | 356.5 | 418 [29/29/36]
Ca12/3 SK130A = S 7 3 = > = fM.JXZ' z 356 5 — 3131
Cai2/3 [SK130B | 189 | 32 | 363 [ 10 | 160 [ 165 | 130 IMi0x20] 5 | 403 | — | 3333
CaTg [SKTOAT 240 [ 57 [ o3 [ 10 [ 19y [ 215 [ Th0 Mipeior 5 [ 4t — T 33n3
Ca12/5 [SK180B | 240 | 38 | 413 1 10 [ 162 | 215 [ 180 MI2x19] 5 | 403 [ — | 383
f . P
| D% m (Do |E|F |G MmN NIN2| Ne |X 213x Qylax Q| B
Caid___|SC60A | M6 15Nm[102] 7 [12.5(1256] 11 |82 | 75 |60 [M6x10|4 | — | 3907 | a2
Ca1d4___|SC60B_| M6 _15Nm|102] 7 [12.5]12.6] 14 |82 | 75 | 60 [M5x10 14 | — | 397 | 33
Ca14___[SCBOA | M6 15Nm|115] 6 |12.5[12.5] 14 |90 [100] 80 [Mx12| 4 | — | 307 | 33
C412/3__|SCB0B | M6 _15Nm |120|15.5[14.5[17.75] 14 | 96 [100] 80 [M6x12| 4 | 380 | — | 30/30
Cal2/3/4_|SCB0C | Mb_15Nm [12015.5]14.5[17.75] 19 | 96 | 100 | 80 [Mbx12| 4 | 380 | 441.5 [30/30/33
Ca12/3/4 [SC95A | M6 15Nm [130]16.5] 15 [17.75] 14 [102.115] 95 [MBx16| 4 | 380 | 441.5 |30/30/34
Ca12/3/4 [SC95B | M6 15Nm [130[16.6] 15 [17.75] 19 [102]115] 95 [M8x16| 4 | 380 | 441.5 [30/30/34
Ca12/3/4_|SC95C | M6_15Nm |130]16.5] 15 [17.75] 24 (102115 95 [M8x16 | 4 | 380 | 441.5 |30/30/35
Ca12/3/4 [SC110A | M6 15Nm [150]16.5] 16 [17.75] 19 [120 130 | 110 [M8x16| 5 | 380 | 441.5 [31/31/39
Ca12/3/4_|SC110B | M6 _15Nm | 150[16.5] 16 [17.75] 24 (1201130 [110 [M8x16 | 5 | 380 | 441.531/31/39
Ca12/3 |SC130A | M6 15Nm 188 19 | 16 [17.75] 24 [142 165130 [M10x20] 5 | 380 | — | 3232
Ca12/3 |SC130B | M8 36 Nm[189] 20 [ 17 [17.75] 32 [160 /165 [130]M10x20 6 | 426 | — | 36/36
Ca12/3 _|SC180A | M8 36 Nm |240] 20 [17.6[17.75] 32 [192215 [180|M12x24] 5 | 430 | — | 36/36
Ca12/3 [SC180B | M8 36Nm 240 20 [175[17.75( 38 [192 215180 M12x24] 5 | 430 | — | 3535




e
n 70 B _iE 155
60 F4| F3 _.__I._‘Om
1 = 7]
Y e Y N = S 7 | gl L&Y
\H £ it & L] mioxz2
B :-:_ [ _}' y 3 g
195 | 1495 | 14 ggI OUTPUT
1865 180
216
A
70 B E 110 7
u o, 1125 Fa| F3 s
60 . F2 hg
~ . ]
I e 1| — 3 7N - C
£ ; 8 AR
. SR 1]
X
—f5 INPUT
90
130 |
155
A
ur [ ——
B LFa) F3 G
|
= ‘ AR \J'R\ cC41_U
e e = R — o L ) I D1|D2|D3|G|T|S
a i \ / &
_ J . N4 N [ Fa]130[165[200[11[35] 1
FB [180|215/250(14| 4 [13
T 155
ol L} A B E F F1 F2 F3 Fa4 v &
c412 4255 | 3055 | 50 24 27 8 25 45 | M&x19 | 30
C413 |HS 4255 | 3055 | 50 24 27 8 25 45 | M8&x19 | 30
c414 448 338 40 19 21.5 6 2.5 35 | M6x16 | 33




